

Ch.7 Linear Transformations let T: V -> W he Def: Let V, W he vector spaces. a function nanction domain

La fretor domain

- set of pos \$ set of actual actuals - Set of possible out puts for all vectors We say T is a linear transformation if $v_1, v_2 \in V$ and scalars c () T(v,+v2) = T(v,) + T(v2) and (T(cv,) = CT(v,). He might call a linear transformation

- linear function

- linear operator

Ex $T: \mathbb{R}^2 \longrightarrow \mathbb{R}$ output

April a 2-ventur $\binom{x}{y}$

(3) T(3) = X - yis a linear transformation.

Just like non-products in subspaces, we need to show that T(x,y) = x - y satisfies the 2 preparties!

 $= \frac{cx}{cx} - \frac{cy}{cy} = \frac{c(x-y)}{c(x-y)}$

 $T\left(\begin{pmatrix} x \\ y \end{pmatrix} + \begin{pmatrix} u \\ v \end{pmatrix}\right) = T\left(\begin{pmatrix} x+y \\ y+v \end{pmatrix}\right) = (x+y) - (y+v)$

= x-y+u-v = (x-y)+(u-v) = T(x/y)+T(x/v)

This is just matrix

This is just matrix

This is
$$fustion = fustion = fust$$

(1) T(f+5) = T(J)+ T(5)? call I or I

(i) T(cf) = c T(f) ?

(i)
$$T(f+g) = \int_{a}^{b} f(x) + g(x) dx = \int_{a}^{b} f(x) dx + \int_{a}^{b} g(x) dx$$

 $= T(f) + T(g)$
(2) $T(cf) = \int_{a}^{b} cf(x) dx = c \int_{a}^{b} f(x) dx = c T(f)$

Alka integration is a linear operator!

More examples $T(x) = \begin{pmatrix} 2x - 3y \\ x + y \\ 6x + 2y \end{pmatrix}$ is liner! T: IR2 -> IR 1 put output 2-rentr 3-rents $\int \left(\begin{array}{c} x \\ y \end{array} \right) = \left(\begin{array}{c} z - 3 \\ \vdots & \vdots \\ \vdots & z \end{array} \right) \left(\begin{array}{c} x \\ y \end{array} \right)$ 2x-3y, xty, 5x+24 The reason this is linear is because (No x2, sinlx), x3 on liner expressions (alsobratically). noming lule 121 & C°[-1,1] · T: C'[a,b] -> (°[a,b]

inputs

afferentiable continues

contractions /x/ & C, [-1'1] ax (x) not defined)

$$T(f) = \frac{df}{dx}$$
 is a line operator or a linear transformation?

Non examples
$$T: \mathbb{R}^2 \to \mathbb{R} \qquad T(x) = x+y-2 \qquad \text{only if}$$

$$T(x) = x^2 + y^2 - 3 \qquad \text{only if}$$

$$T(c(x)) = T(cx) = (cx)^2 + (cy)^2 - 3$$

$$T(c(x)) = T(cx) = (cx)^{2} + (cy)^{2} - 3$$

$$= c^{2}x^{2} + c^{2}y^{2} - 3$$

$$= c^{2}(x^{2} + y^{2}) - 3 \neq cT(x)$$

$$= T(x) = c(x^{2} + y^{2} - 3) = cx^{2} + cy^{2} - 3c$$

$$= c^{2}(x^{2} + y^{2}) - 3 \neq cT(x)$$

$$= cT(x) = c(x^{2} + y^{2} - 3) = cx^{2} + cy^{2} - 3c$$

$$= cT(x) = c(x^{2} + y^{2} - 3) = cx^{2} + cy^{2} - 3c$$

$$= cT(x) = c(x^{2} + y^{2} - 3) = cx^{2} + cy^{2} - 3c$$

mhy? Suppose $T:V \longrightarrow U$ ma $S:V \longrightarrow U$ are two linear functions. Let $\overrightarrow{V}_1 ... \overrightarrow{V}_N$ he a basis of V. Then if $T(\vec{v}_i) = S(\vec{v}_i)$ for all basis vectors \vec{v}_i , the T = S. - If SiT ages on the basis. They agree everywhere. * - Bases duternire the values of a linear friction. It come Pf let is he any ventor in V. $\vec{J} = \vec{a_1} \vec{v_1} + \vec{\alpha_2} \vec{v_2} + \dots + \vec{a_n} \vec{v_n}.$

$$S(a_{1}\vec{v}_{1}) + S(a_{2}\vec{v}_{1}) + ... + S(a_{n}\vec{v}_{n})$$

$$= a_{1}S(\vec{v}_{1}) + a_{2}S(\vec{v}_{2}) + ... + a_{n}S(\vec{v}_{n})$$

$$= a_{1}T(\vec{v}_{1}) + a_{2}T(\vec{v}_{2}) + ... + a_{n}T(\vec{v}_{n})$$

= $T(\alpha_1\vec{v}_1) \cdots + \alpha_n\vec{v}_n) = T(\vec{v})$.

 $S(\vec{v}) = S(\alpha, \vec{v}, \beta \dots + \alpha \vec{v}_n)$

This let T: R^ -> Rm he any live fuction. Then there exists a max matrix A Sur that $T(\vec{x}) = \vec{A}\vec{x}$. IRM -> Rm are matrix - All linea transformations from multiprication? If Consider the standard basis on R" {\vec{e}_1, \vec{e}_2, ..., \vec{e}_n}. outsut $T(\vec{e}_i) \in \mathbb{R}^m$ some $T: \mathbb{R}^n \to \mathbb{R}^m$. Defin $A = \left(T(\vec{e}_1) \quad T(\vec{e}_2) \quad \dots \quad T(\vec{e}_n) \right)$ n columns mxn m von 1

$$T(\vec{\chi}) = T(\chi_{i}\vec{e}_{i} + \chi_{i}\vec{e}_{i} + ... + \chi_{i}\vec{e}_{n}) = (v_{i}...v_{i})$$

$$= T(\chi_{i}\vec{e}_{i}) + ... + T(\chi_{i}\vec{e}_{n}) + ... + \chi_{i}T(\vec{e}_{n})$$

$$= \chi_{i}T(\vec{e}_{i}) + ... + \chi_{i}T(\vec{e}_{n}) + ... + \chi_{i}T(\vec{e}_{n})$$

$$= (T(e_{i}) ... + T(\vec{e}_{n})) \times (\chi_{i})$$

$$= (T(e_{i}) ... + T(\vec{e}_{n})) \times (\chi_{i})$$

= (~, ... ~~)(;

 $\vec{\chi} = \vec{A} \vec{x}$

2 why T(x) = Ax?

$$T(x) = \begin{pmatrix} 2x - 3y \\ 5x + 2y \end{pmatrix} \times T(x) = \begin{pmatrix} 2 - 3 - 0 \\ 1 + 0 \\ 5 - 1 + 2 - 0 \end{pmatrix} = \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} 2 - 3 \\ 1 \\ 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 2 - 3 \\ 1 \\ 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 2 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 2 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 2 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 2 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3 \\ 1 \\ 1 \end{pmatrix}$$

$$T(x) = \begin{pmatrix} -3$$

Proof: We don't know alread Λ him $A = \begin{pmatrix} a_{11} - a_{12} \\ a_{12} + \cdots + a_{1n} \\ a_{1n} \end{pmatrix}$ $A = \begin{pmatrix} a_{11} - a_{11} \\ a_{21} - a_{21} \\ \vdots \end{pmatrix}$